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Answer any ﬁfve questions.

k. (a) Explain with the help of diagram the stages

- at which product failure occures for a
product. What are the main reasons for
‘product failure ? ‘ 58

b) Make a comparison of the characteristics of
- different types of process technologies. ,

e




Explain the role of Fixed costs and Variable
costs.on profitability while selecting a faci[ii?
locat;on. Explain with the help of diagramﬁ;‘

8

(b)  Given the following two machine problems

Jobs Machine 1 Machine 2
(Time in Mins) | (Time in Mins)
A 22 19
B 18 17
C 24 19
D 5 | s
E 10 12
*_;F 15 ‘ 17

(m.d the sequence for processing the jobs
usmg Jhonsons algorithm and also calculate
the idle time for Machine 2 6
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iven below is the data on task, Predecessor, and
14

‘Predecessor Time (secs)
AL T
i 45
: i J0
55
59 40,
d sloall 30
1 Boubong SEE
D, E : 30
G H 45

caw s>

All the tasks need to be conipleted to produce one
~unit of a product. The company is planning to
- produce 288 units of the products daily by working .

- for 8 hours daily.
wo /
~ lind out the following :

fﬁ) Is the maximum daily output that can be
- produced by the production line sufficient to
meet the company’s daily production plan ?

Calculate the maximum allowable cycle time.
Balance the time with the maximum allowable

‘ cycle time.
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(d) Calculate the efficiency of the line

(e) Also draw the sequencc diagram for the tas K
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A company is plannmg to produce product ‘A al
per the following schedule..

Week 4 — 500 units
Week 5 — 600 units
 Week 7 — 650 units
Week 8 — 550 units.

The product tree is as follows :

A
. lLead Time = 1 Week

B D
Lead Time = 1 Week Lead Time =
1 Week
& P '
Lead Time = l_WeeR Lead Time =
1 Week

1

iits of component ‘E’ is required to produce 1
of component D.

flable qﬁantity in hand :
sct ‘A’ > 100 units
nponent B — 500 units
’ ’ ponent C — 700 units
Eﬁgmponent D —» 650 units
“omponent E s 440 umts.

H
A65 W

I aH!

Scheduled receipt of finished product ‘A

Week 4 —» 200 units
,=Wéék 5 — 100 units
" . Week 6 — 100 units
1 (‘“‘Week 7 — 200 units

V'ek 8 — 300 units.

@ﬂnstruct the MRP records for ‘A’ ‘B’ ‘C, D
& ‘.

)Y

,,

2 units of components ‘B’ and 1 unit of component

‘D’ respectively are required to produce one unit

of product ‘A’.

3 units of component ‘C’ is required to produce
1 unit of component ‘B’.
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(@ The daily demand for a product is normal
distributed with a mean of 35 units ar

- Standard deviation of 8. Carrying cost is 80
of cost of invéntory of % 60. Lead time ig ﬁ

days. Ordering cost is 2300. The produg,

is produced all throughout the year A 98%

service level is desired. Determine th ,
- operating doctrine, 108

(b) How is a Q/R system of inventory differen
from a periodic inventory system ?

(@) A production line draws 4 samplles in a day,
Each sample has 5 nog. of observation. Th

‘readings are as follows - ol
SAMPLE SAMPLE SAMPLE SAMPLE |
No.1(cms) No.2(cms) No.3(cms) No.4(cms)

20 . 30 33
v L) 21 2
23 27 L 20 19
31 .29 S 17
26 37 19 18

From the above data compute the control limits for -

Mean chart and Range chart. Also plot the points by
constructing the control charts and comment,

‘Given : . ;
For n=4, 142:()-729,D3:0,D4 =2.28% ,
For n:S,AZ:()-577,D3:O,D4:2-115. '
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